March 19, 2019

Sole Source Letter



To Whom It May Concern:

Wilson Language Training Corporation is the sole source of the Wilson Reading System®, Fundations®, Wilson Fluency®, and Just Words® component materials. Wilson Language Training Corporation has just one other product distributor that distributes a very limited amount of Wilson Reading System kits and sets. This product distributor does not supply component materials.

No other source exists for Wilson Reading System®, Fundations®, Wilson Fluency®, and Just Words® materials because Wilson Language Training Corporation or Barbara A. Wilson, its principal, owns and has not licensed the copyright of the materials.

Wilson Reading System®, Fundations®, Wilson Fluency®, and Just Words® are trademarked terms. Professional Development in the use of these products would require a trademark license from Wilson Language Training Corporation. Therefore, there is no other source for Wilson Professional Development except through the Wilson Language Training Corporation or an affiliated organization.

Mary-Janet McCafferty

Vice President and General Counsel

Wilson Language Training

Quote for Highland-Turner Elementary

Quote Numbers: Q1022919

Quote Created 3/15/2019 Quote Expires 4/14/2019

Breathitt Co BOE Jackson, KY

Wilson District Plan Cost Details	QTY	Unit of Measure	Unit Price	Extended Price
Materials				
Fundations Classroom Set Level K (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	1	Each	\$1,368.50	\$1,368.50
Fundations Classroom Set Level 1 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	1	Each	\$1,696.00	\$1,696.00
Fundations Classroom Set Level 2 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	1	Each	\$1,785.80	\$1,785.80
Total Materials		Na 4 Total		\$4,850.30
Shipping and Handling		BMA	000000	\$527.65
Sales Tax*				\$0.00
Total Amount				\$5,377.95

*Sales tax provided with this quote is an estimate only.

Actual sales tax is calculated based on the date on the invoice plus the current tax rates for your location.

Quote for LBJ Elementary

Quote Numbers: Q1022920

Quote Created 3/15/2019 **Quote Expires** 4/14/2019

Breathitt Co BOE Jackson, KY

Wilson District Plan Cost Details	QTY	Unit of Measure	Unit Price	Extended Price
Materials				·
Fundations Classroom Set Level K (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	3	Each	\$1,368.50	\$4,105.50
Fundations Classroom Set Level 1 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	3	Each	\$1,696.00	\$5,088.00
Fundations Classroom Set Level 2 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	3	Each	\$1,785.80	\$5,357.40
Total Materials				\$14,550.90
Shipping and Handling				\$797.94
Sales Tax*				\$0.00
Total Amount				\$15,348.84

*Sales tax provided with this quote is an estimate only.

Actual sales tax is calculated based on the date on the invoice plus the current tax rates for your location.

Quote for Marie-Roberts Caney Elementary

Quote Numbers: Q1022921 /

Breathitt Co BOE Jackson, KY

Quote Created 3/15/2019 Quote Expires 4/14/2019

Wilson District Plan Cost Details	QTY	Unit of Measure	Unit Price	Extended Price
Materials				
Fundations Classroom Set Level K (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	2	Each	\$1,368.50	\$2,737.00
Fundations Classroom Set Level 1 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	2	Each	\$1,696.00	\$3,392.00
Fundations Student Kit 1 Second Edition	1	Each	\$55.60	\$55.60
Fundations Classroom Set Level 2 (1 Teachers Kit & Materials for 25 Students) Second Ed. (5 box set)	2	Each	\$1,785.80	\$3,571.60
Fundations Student Kit 2 Second Edition	1	Each	\$62.10	\$62.10
Total Materials				\$9,818.30
Shipping and Handling				\$1,170.74
Sales Tax*				\$0.00
Total Amount				\$10,989.04
*Salas tay aroulded with this quate is an estimate only	<u> </u>		1	

*Sales tax provided with this quote is an estimate only.

Actual sales tax is calculated based on the date on the invoice plus the current tax rates for your location.